Fiche outil

Tables de multiplication
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10112 (14|16 |18 | 20
12115118 (21 (24|27 |30
121162024 |28 |32 |36 |40
101151202530 |35({40 |45 |50
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1412128354249 |56 |63 |70
16 1241324048 56|64 |72 |80
182736455463 |72|81|90
20(30({40|50|60|70 8090|100
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Fiche outil Calcul

Tables de multiplication

Tablede 1 Table de 2 Table de 3 Table de 4 Table de 5
1x0= 0 2x0= 0 3x0= 0 4x0= O 5x0= 0
1x1= 1 2x1l= 2 3x1= 3 4x1= 4 5x1= 5
1x2= 2 2x2= 4 3x2= 6 4x2= 8 5x2= 10
1x3= 3 2x3= 6 3x3= 9 4x3= 12 5x3= 15
1x4= 4 2x4= 8 3x4= 12 4x4= 16 5x4= 20
1x5= 5 2x5= 10 3x5= 15 4x5= 20 5x5= 25
1x6= 6 2x6= 12 3x6= 18 4x6= 24 5x6= 30
1x7= 7 2x7= 14 3x7= 21 4x7= 28 5x7= 35
1x8= 8 2x8= 16 3x8= 24 4x8= 32 5x8= 40
1x9= 9 2x9= 18 3x9= 27 4x9= 36 5x9= 45
1x10= 10 2x10= 20 3x10= 30 4x10= 40 5x10= 50
Table de 6 Table de 7

6x0= 0 7x0= 0

6x1l= 6 7x1= 7

6x2= 12 7x2= 14

6x3= 18 7x3= 21
6x4= 24 7x4= 28
6x5= 30 7x5= 35
6x6= 36 7x6= 42
6x7= 42 7x7= 49
6x8= 48 7x8= 56
6x9= 54 7x9= 63
6x10= 60 7x10= 170
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